New Maths GCSE: N15 - Rounding to the nearest 10, 100\¢

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Write 2155 to the nearest 1000 Explanation:
A)2160 | s
i e
02200 | e
o200 i
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Correct Answer: ABCD

Explanation:

Round £432.27 to the
nearest pound......

a) £400
b) £430
C)E432  FG@BR. | e
BRE433 7 M e

Correct Answer: ABCD

RO un d NG Explanation:

What is 153,924 rounded 10 the Nearest thoUSaNad? | it e e e e e i

150,000
153,000
153,900
154,000

@

Correct Answer: ABCD

Explanation:
13 557 people watched a football match.

'What is the number 13 557 when rounded to the nearest hundred?

13 600 14 000 13500 13560 e
A B C D

Correct Answer: ABCD

Explanation:

Round 612 to the nearest 100

A)700 | e

B) 600

O)712 | s

D) 61200
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Round 396 to the nearest 10
A) 3106
B) 400
C) 390

D) 406

The number 3754 expressed to the nearest hundred is

(A) 3700
(B) 3750
(C) 3800
(D) 4000

Rounded to the nearest 10,000, the population of Louisiana was 4,530,000 in 2010. Which
number could be the actual population of Louisiana in 20107

A. 4500321

B. 4524491

C. 4533372

D. 4535343

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:
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